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QUESTION 1

Which of the following distributions have the set of all real numbers as their domain? 

A. Lognormal 

B. Exponential 

C. Weibull 

D. None of the above. 

Correct Answer: D 

 

QUESTION 2

A process is turning out end items that have defects of type A or type B or both. If the probability of type A defect is 0.1
and of a type B is 0.2, the probability that an end item will have no defect is 

A. 0.7 

B. 0.30 

C. 0.72 

D. 0.68 

Correct Answer: C 

 

QUESTION 3

An operation requires shipments from your vendor of small lots of fixed size. The attribute sampling plan used for
receiving inspection should have its OC curve developed using 

A. The binomial distribution. 

B. The Gaussian (normal) distribution. 

C. The Poisson distribution. 

D. The hypergeometric distribution. 

Correct Answer: D 

 

QUESTION 4

The MOST essential value of a surface plate in precision measurement application is which of the following? 

A. It provides a flat working surface. 
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B. It provides a surface free of minor vibration. 

C. It provides an accurate reference surface. 

D. It provides a chemically resistant work surface. 

Correct Answer: C 

 

QUESTION 5

The distribution of a characteristic is negatively skewed. The sampling distribution of the mean for large samples is: 

A. Negatively skewed. 

B. Approximately normal. 

C. Positively skewed. 

D. Lognormal. 

Correct Answer: B 
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